Supplementary Information
A) Connectograms for each subject, and each functional connectivity metric. Horizontal axis is normalized time (see text for explanation). The vertical dashed lines are the points of loss and recovery of responsiveness to verbal command. The vertical axes are frequency, and colors depict the strength of the metric at each time point and frequency.
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B) Mean [95% confidence intervals] within-subject changes of global efficiency between the different time points, as defined in the Methods section of the paper 
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P-values for comparing changes in global efficiency between the 5 different time
points (as defined in the main text — Table 1)
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P-values for comparing changes in statistical complexity between the 5 different
time points (as defined in the main text — Table 2)
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